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Number of candidates after signal
side cuts
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Number of candidates after signal
side cuts

Generic B'B-MC

Cut list 3 number of candidates after selection
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Number of candidates after signal

Cut list

sinp <1
Mkn>1.91 GeV
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Number of candidates after signal
side cuts

Generic cc MC

Cut list number of candidates after selection
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Number of candidates after signal
side cuts

Generic uds MC

Cut list number of candidates after selection
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MRoE

sing < 1
M>1.91 GeV

ml_m'3-1|>0.05&
Myr-3.69]>0.05GeV.

mpp'3.1l>0-05&
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TMVA

* Using the following input variables. Signal side cuts

Prtag, MroE, COS(Patag, Pvistag), NLEPLONS sing <1
Mkn>1.91 GeV

. [Myr-3.1/>0.05&
* Applied some loose |M,-3.69]>0.05GeV

selections on tag side Im,,,-3.69|>0.05 GeV

° pltag > 03 GeV && plta_g < 25 GeV

* 1.3<Mgroe<2.1GeV
Nsig = 1,016 (BF = 10%)
No, = 8,043



TMVA response
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TMVA Ponzi FOM

Cut efficiencies and optimal cut value

Efficiency (Purity)
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Cut efficiencies and optimal cut value

Efficiency (Purity)
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Cut efficiencies and optimal cut value

TMVA FOM

Cut efficiencies and optimal cut value
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TMVA Ponzi FOM (1.5 sigma)

Cut efficiencies and optimal cut value

Efficiency (Purity)
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Cut efficiencies and optimal cut value
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